x—-y=3 2x-y=1
@5 @3
2x -2y = dx=2y-2
2x+y=5 xX=y+2
® ' @ {77
x+2y=4 3x-3y=4
6x—-2y=4
® Y
3x—y=-2

® {x—y:?, 9 30— © ol At 249 Bk
2x—2y=6 ---©

@ si7t it

® 142 87} sl

@ 7} gl

® 37t gict.




K
N
il
<

T

g © A9 x 9] A

©

3x+3y=5--

oju

Hi 2o
EAJE=7E

® 3 @ 4 ® 5

@ 2

1_.___0

oju
=
il
5;0¢

=

!

o

ol

"

I o

N

o

o ol

=

© Q 7
| S
— 10 N
I Iy
& & i
I+ W_.Hl
& 8 Yw

a=1

2a+3=5




5x+4=x+y+8




(x—=3y):3=(2x-4):2
0.1x + 0.8y~ 1.6 = 0

ky =6 & U= of, = & o] gh2?

@ 1 @ 2 (@)3 @ 4 ® 5

o a7k QAREA x+

~&B

HFHAS Z9 6x - 12 =2x— 6y, dx+ 6y =12 --- (1),

(2) x4 - (1)StH 26y =52, y =2, WekA x =0
x=0,y=25 x+ky=6°] fdotH
0+kx2=6

0.1x+ 0.8y - 1.6 = 0°] &l 10 FolH x+8y =16 ---

(2)




2x+by=14

gl TN o sk g b, o ge meA
dx-2y=c

e AL

D b=-1,c=8 b=1¢c=38 @ b+-1,¢c=8

0]
@ b+1,c+8 @b:—l,c¢8

b 4
— #-o"b=-1,c#8
-2 ¢




